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The & nx discusses the mawn which says that if 2 witnesses told a lady that her husband died
and than her son, and later she is told that it was actually her son who died first and she
needs 012°, she can’t stay with her current husband. The difficulty is why are we believing
the second testimony more than the first. The X1 suggests that the second pair, were v
7t which means that they are believed because of a 210351 n°1a. Since a1 7y are
testifying that the first pair were not in the purported place at the purported time, but are not
addressing the actual facts of the case, how can this fit into the mwn which says 7% 1 nx
0°1277 1 n?

The x n3 says that we don’t believe a lady who says that she doesn’t need 012°, because
maybe she dislikes the 02> and is worried that she will need to marry him. Would the 71273
change today, since we only do nx°>r and not 012°?

The xn3 says that 71y9x °21 could have learnt a n*axan from the pos of qwsn mwa nwR
but instead he learnt a 790r. Why is the second nw=7 so much better than the first?

If a man hears from 2 witnesses that his wife as well as her sister’s husband died, and he
married his wife’s sister and then both come back alive, he can return to his wife. His sister
in law can’t return to her husband, because of a o1p. What did she do wrong if there were 2
witnesses? (There must be 2 witnesses, because otherwise he couldn’t marry her).

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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